o At a bakery, cupcakes are sold in small boxes or large boxes.

(a) Amira bought 6 large boxes and 4 small boxes of cupcakes for her

family party.
How many cupcakes did she buy altogether?

6 x| 8 |[=| 48
b x| 3 [=] 12
48 + 12 = 60

Amira bought | o | cupcakes altogether.

(b) Back at home, Amira put all the cupcakes she bought onto trays.
There were 10 cupcakes on each tray,
How many trays did she use?

Amiraused | ¢ | trays.




o Hannah brought 3 boxes of chocolate cookies to school to share with
her friends.

(@ There were 12 cookies in each box.
Hannah shared all the cookies with her friends.

Each of them received 6 cookies. (b) If Hannah shared the cookies witt 4 friends instead, how many
How many friends did Hannah share her cookies with? cookles would each person receive?
IO|*| 12 |F| 36
% || 6 || 6
I R B el
6 I 1 |F| 5
Each person would receive | 9 | cookies.
Hannah shared her cookies with | 5 | friends.
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